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Instructions to the candidate :

1. adendt auhE s vt # o ¥

Candidates are required to give their answers in their cwn words as far as
practicable.

2. wier o T w el gu o ot T w3

Figures in the right hand margin indicate full marks.
3. ®v o sfard )

All questions are compulsory.
4, AT OR WNY GO TUTEE W -d w5 e v

While ansu.;ering the candidate should adhere to the word limit as far as
' practicable. BiharPaper.com
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15 minutes of extra time have been allotted for the candidates to read the

questions.
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Instructions ;

1mﬁm%mwmmwmﬁﬁi
Answer in one word or in one sentence the

2 3% A1l T & I G 50 v} N, 5 o

SL Eul:le:

5 3% A W & 9o 150 7 & 5 WA R I EhAT 75 VRl H 0

Answer in about 50 words the
qu:;-stiuns uf_ 3 marks and answer in about 150 words
E{wﬁrﬁwﬁﬁmaﬁmmaﬂ%ﬂmammiz >
Which colour of light is deviated most ? |
3 % Fram A fwwm we Faats gy

In Ohm's law which value remains constant
I WA A T Y| 1 & B FAE 2

Which works as positive terminal in simple celi 7
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IO IH & {95 Fel 7@ AR TR F IR SR a2
To get the image equal 1o the size of object where should an object be placed before

convex lens ?

TERTYT 1 T et T wig=r & it ¥ 2

Which event is responsible for the blue colour of sky ?

YERIYT N TR R E 7 78 o e

What is refraction of light ? Definc its law.

fergger AT o & 7 ST WIS O T ford

What is ¢lectric current ? Write 1ts equation and unit,

qaTyl &1 &l fasam w0 E 2 afer W w)

What is dispersion of light ? Describe it with diagram.
FAT U U e U § e W w1

Differentiale between alternating and direct current.

ferget &R ( 1) T AT T B
N
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questions of 2 marks, answer in about 75 words the
the questions of 5 marks.
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Find the electric current [} in the following circait

Prove B = 2§ in a concave mirror

2 e % arem 3 fed wer @) st ot sl F S E 2

! 1
What 1ype of reaction takes place in the digestion of food in our body ?

12; Swem Afemm M Em a2 |
What is the colour of Na v the flame test 7
13- T & T 9T T TR § OR W OE O SR S AW 1
Write down the name of a non-metal which is found in liguid state at room
lemperature.
4 IEERE TR R 9 e e k) he
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Bauxite 15 the chief ore of which metal ?
AT CaOCL, W 1 SR 3/ 50 & 7

1
What is the common name of CaOCl, compound ?

16 s s frumite g ¥, ﬁﬂmmmmmﬁmmmﬁqﬁ'
W E 2

Aluminium is a highly reactive metal, vet it is used to make utensils, Why

2
ils. ?
17, EETa T Fed & 2 U SR %) 2
What is isomerism ? Give an example! _
A8 TEA T S T R 3

Ciffcrentiate between soap and detergent

3.
19, =M wFE TH % o o 3wt ey 3
Write the method of preparation of bleaching powder and its uses.
20, RS avm w TefeiEa & e E el sl W et Tiem e s
y wifzmy (py dlemm wETE (@ Sfeun aREEEe

BiharPaper.com EEL

et % OF W waen o N T g ) I e W avem R gt )
Write down the chemical equation of ethanoic acld with la} sodium (b} sodium
carbonnte (¢} sodivum bicarbonate.

OR
Name an imporiant ore of iron with formula. How is this ore concentrated 7

| Turn over
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21.
What is the respiratory oTgan of fish ?
22, ﬁmﬁqaa?ﬁ-ma?r&m% ?
What is the function of kidncy in man ?
23, mhmma:raﬂm?:rm%mméswmﬁ ?
Which chemical is responsible for depletion of ozone layer ?
24, ﬁsﬁﬁaﬂﬁnﬂﬁﬂfﬁmqﬁﬁwmﬁm% ?
Mendel selected which plant for his experiment ? '
25 el 2 s e e T 2 niapd ¥
_ Tanin is stored in which part of the plant ?
26. g 3 EAH 7 2 3 ferd |
Write two differcnces between xylem and phloem. _
oy Rl @7 & S » 0 FE € 7 BiharPaper.com
What are the functions of producers in an ecosystem 7
28. WW%M#WWW? ?
What is the importance of transpiration in plants 7
op. FETEANE HEA T aret arga ¥ o o | ‘
Write the differences between Unaerobic and acrobic respirations.
30. qﬁﬁﬂﬂﬁﬁﬁlﬁﬂmﬁﬂﬂhaﬁl
Describe kidney with a well labelled diagram.
: 97 - B
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{ Marks : 20 )
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Multiple Choice Questions
g7 ;30 B quit : 20 x 1 =20
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General Instructlons :
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Each question carrics one mark.
ﬁqﬂﬁﬁm%ﬁ%ﬁaﬂﬁﬁﬁaﬁmaﬂhﬁmﬁw%mm,

¢ choice with question number from the given four options
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write down the corree

Full Marks -: 0 x [ =20
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31. Freifeiaa famedl 4 @ @@ ey 7 :
Choose the tarreet alternative from the given four options

(i) qu?ﬁé;mmuﬁwﬁhqﬁmnmmm
ol T S (b) g
() 3 TR @ 4 THEt

Inn short-cireuit, the value of electric currcnt in a circuil becomes

fa) very high (b very low
fc} 3 A (d)~ 4 A
(i) TeETe] & qEeT & feas FaH e ?
faj 1 AR 2
€] 3 (d) 4 BiharPaper.com
How many laws of reflection of light are there ?
(a) I (b) 2
fe) 3 (d 4
i) feRet @e ﬁzzﬂvmznaﬁww@ﬁﬁﬁ,ﬁ?ﬁmﬁzaﬂm’?‘ Gl
" la) 55 b 1100
[} 440 Q.
¢ resistance

ey 2200
The current of 2 A at 220 V is flowing

of filament will be

through an electric bulb. Th

(a} 550 (b 11002
€] 2200 d) 440 £
(iv) Tzﬁﬁmmﬂ‘&?maﬂﬁiﬁaﬂnm#ﬂ%
sini sinr
€ - b —_——
-I‘E‘l} sinr { ] sind
fc) sinixsinr id) sini + sinr.
The value of refractive index ol a medium 15
sinl SN
(@) sinr (b) sini
{c) sinixsinr {d) sini + sinr.
BiharPaper.com

v) 1 kWhTEE

?,.\[a} 3600 J T il 3.6x10° J

o) 36x10° JF ) 36:00J FI
| lcWh is equal to

(a) 3600J b 3.6x10%J
o 36x100J ) 36004
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6 El.l:ude:
o i) e T g v e 2 “

() (o) 3R () I @ AW
The image formed by plane mirror is
(a) real () virtual
(¢}  both (a) and (b) () none of these,
vil)  TEYENSER ® S| AEE R &
@) =2 by  WEER
ey @i (@) 3
The S1 unit of potential difference is BiharPaper.com
(a) watt (b} ampere
(¢} volt (d}  Ohm.
visi) SifeTR FEME T 30 P E
@ NaxCOzw {b)  NaHCO3
'_,,'[Cl Na,COs {d) MaCl.
Molecular formula of sodium carbonate 1s
(@) NayCOs (b} NaHCO4
() NaCl.

() NazCO2

) gfaa T s 3
{ix) HETAE e Gl
. : {5} ~ COOH &

(/{E-'! - CI{D m
&y - COClp AU
cl - CO®
Carbonyl group is indicated > by - COOH
la) —CHO BiharPaper.com ¢4y -COCl2
(%) YT Hed by CEH-;,DH
OH
(a) CHs dy  CaH20H
OH _
@) C2He hol is
. of ethyl alco
Molecular formula O (o) CEHEDH

o) CaHeOM
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xi) FE AW FF sl die € 7
" {a}] CH,4 ()  COy
[c) CaCly (d)  NHj.
Which is ionic compound ?
{a] CH, tb)  COg
{c} CaCl, (d)  NHa.
(xi) 3 WOR & v AR o e @
= fay H {b} He
fe) COjp {d) Cly
The element of zero group in the periodic table is
fa) H ] (b) He
(¢ CO, BiharPaper.com @ Cl
(xii) ﬁmﬁhﬁmmm%’m% ?
fa) 2 ib) 4
le} © id) 3.
How many covalent bonds are present in methane ?
la) 2 (b) 4
€} 6 (d) 8.
(xiv) T 0 ¥ B HAgewRE ¥ 2 BiharPaper.com
fa} Ha o bl CO
,,[':} DI Faf [d.] HES_
Which of the following is reducing agent ?
faj: Hy (k) Co
fc} O id) Ha5.
(xv) STUEE ewnieet g Won & %em o 99 2
o) FTEERE by ErER
©  (a) AT (b) A d) T ® R

Ethyl alcohol is formed in
(@) Aerobic
{c) Both (a) and {b)

which type of respiration
(b}  Anaerobic

3 (d) None of these.
(wvi) TRt ST S e v B &

(a) KFWE Wﬂﬁfgﬂq
o sty BiharPaper.com (b]
c
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Asexual reproduction occurs through budding in

(a] Ycast ()
(c) Amocbi (d)
(xvii) AT 9LA (A FTA &

(a) ?ﬁﬁ@'{' I (b)

(c) AR o ()

Ozone layer is found n

(a) Stratosphere (b)
{d)

(c) lonosphere’
Ceviii) TR © TRA ST §
~f{a) %99  BiharPaper.com W

(¢ R (d)
I anther . v svanes is found

fa) Calyx (bl
(e} Stigma {d}

(xix) TATEZY 37EET HEl G 8

N i A

(c) T @ AT H (d)

Goitre discase is caused by

(a) lack of sugar (b
(d)

(e lack of blood

(xx)

(b]
(d)

Aa) B
{c) FATTH
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Who wrote the book 'The Origin of Species’ ?

(b)

(a} Darwin
(d]

(c) Lamarck

“The Origin of Species’ AME THI® i

Plasmodium
none of these.

TFaIfERat o

ZOIREER H

Exospherc
Troposphere
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Pollen grains
none of these.

AqETEE 1 9
e Hl

lack of jodine
[alness,

ferEt ?
R
=8 W e el

Opernin
Nenc of them.



